

# The Australian Journal of Mathematical Analysis and Applications

http://ajmaa.org



Volume 2, Issue 1, Article 2, pp. 1-5, 2005

## **REVERSE OF MARTINS' INEQUALITY**

CHAO-PING CHEN, FENG QI, AND SEVER S. DRAGOMIR

Received 25 June, 2004; accepted 23 December, 2004; published 31 January, 2005.

DEPARTMENT OF APPLIED MATHEMATICS AND INFORMATICS, RESEARCH INSTITUTE OF APPLIED MATHEMATICS, HENAN POLYTECHNIC UNIVERSITY, JIAOZUO CITY, HENAN 454010, CHINA chenchaoping@sohu.com; chenchaoping@hpu.edu.cn

DEPARTMENT OF APPLIED MATHEMATICS AND INFORMATICS, RESEARCH INSTITUTE OF APPLIED MATHEMATICS, HENAN POLYTECHNIC UNIVERSITY, JIAOZUO CITY, HENAN 454010, CHINA qifeng@hpu.edu.cn URL: http://rgmia.vu.edu.au/qi.html

SCHOOL OF COMPUTER SCIENCE AND MATHEMATICS, VICTORIA UNIVERSITY OF TECHNOLOGY, P. O. BOX 14428, MELBOURNE CITY MC, VICTORIA 8001, AUSTRALIA sever.dragomir@vu.edu.au URL: http://rgmia.vu.edu.au/SSDragomirWeb.html

ABSTRACT. In this paper, it is proved that

$$\frac{\sqrt[n]{n!}}{\frac{n+1}{(n+1)!}} < \left(\frac{1}{n}\sum_{i=1}^{n}i^r \middle/ \frac{1}{n+1}\sum_{i=1}^{n+1}i^r\right)^{1/n}$$

for all natural numbers n, and all real r < 0.

Key words and phrases: Martins' inequality, Reverse inequality, König's inequality, Power mean, Geometric mean.

2000 Mathematics Subject Classification. 26D15.

ISSN (electronic): 1449-5910

<sup>© 2005</sup> Austral Internet Publishing. All rights reserved.

The authors were supported in part by NSF (#10001016) of China, SF for the Prominent Youth of Henan Province (#0112000200), SF of Henan Innovation Talents at Universities, NSF of Henan Province (#004051800), Doctor Fund of Jiaozuo Institute of Technology, China.

### 1. INTRODUCTION

The inequality to which the title refers is

(1.1) 
$$\left(\frac{1}{n}\sum_{i=1}^{n}i^{r} / \frac{1}{n+1}\sum_{i=1}^{n+1}i^{r}\right)^{1/r} < \frac{\sqrt[n]{n!}}{\sqrt[n+1]{(n+1)!}}$$

for all natural numbers n, and all real r > 0. For convenience, we call it Martins' inequality (see [4]).

We prove that Martins' inequality is reversed for r < 0.

**Theorem.** For all natural numbers n, and all real r < 0, then

(1.2) 
$$\frac{\sqrt[n]{n!}}{\sqrt[n+1]{n+1}} < \left(\frac{1}{n}\sum_{i=1}^{n}i^{r} / \frac{1}{n+1}\sum_{i=1}^{n+1}i^{r}\right)^{1/r}.$$

### 2. LEMMAS

**Lemma 1** (König's inequality [2, p. 149] and [3, p. 24]). Let  $\{a_i\}_{i=1}^n$  and  $\{b_i\}_{i=1}^n$  be decreasing nonnegative *n*-tuples such that

(2.1) 
$$\prod_{i=1}^{k} b_i \le \prod_{i=1}^{k} a_i, \quad 1 \le k \le n,$$

then, for r > 0,

(2.2) 
$$\sum_{i=1}^{n} b_i^r \le \sum_{i=1}^{n} a_i^r.$$

The sign of equality in (2.2) holds if and only if  $a_i = b_i$  for all  $1 \le i \le n$ .

**Lemma 2** ([5]). *For all natural number n, then* 

(2.3) 
$$\frac{n}{n+1} < \frac{n+1}{n+2} < \frac{\sqrt[n]{n+1}}{\sqrt[n+1]{n+1}} < 1.$$

### 3. PROOF OF THEOREM

*Proof.* Let r = -s, s > 0, then (1.2) is equivalent to

(3.1) 
$$(n+1)\sum_{i=1}^{n} \left(\frac{1}{i\sqrt[n+1]{(n+1)!}}\right)^{s} < n\sum_{i=1}^{n+1} \left(\frac{1}{i\sqrt[n]{n!}}\right)^{s}.$$

Define

$$a_{pn+1} = a_{pn+2} = \dots = a_{pn+n} = \frac{1}{(p+1)\sqrt[n]{n!}}$$

for p = 0, 1, 2, ..., n, and

$$b_{q(n+1)+1} = b_{q(n+1)+2} = \dots = b_{q(n+1)+(n+1)} = \frac{1}{(q+1)\sqrt[n+1]{(n+1)!}}$$

for  $q = 0, 1, 2, \dots, n - 1$ .

Easy calculation reveals that

$$\sum_{i=1}^{n(n+1)} a_i^s = n \sum_{i=1}^{n+1} \left(\frac{1}{i\sqrt[n]{n!}}\right)^s,$$

$$\sum_{i=1}^{n(n+1)} b_i^s = (n+1) \sum_{i=1}^n \left(\frac{1}{i\sqrt[n+1]{(n+1)!}}\right)^s.$$

Then, (3.1) is equivalent to

(3.2) 
$$\sum_{i=1}^{n(n+1)} b_i^s < \sum_{i=1}^{n(n+1)} a_i^s.$$

( 11)

It is easy to see that both the sequences  $\{a_i\}_{i=1}^{n(n+1)}$  and  $\{b_i\}_{i=1}^{n(n+1)}$  are decreasing, and  $a_{n(n+1)} = \frac{1}{(n+1)\sqrt[n]{n!}} < \frac{1}{n^{n+1}\sqrt{(n+1)!}} = b_{n(n+1)}$ . Therefore, by Lemma 1, to prove (3.2) it is sufficient to show that

(3.3) 
$$\prod_{i=1}^{k} b_i \le \prod_{i=1}^{k} a_i \text{ for } 1 \le k \le n(n+1).$$

Set  $A_k = \prod_{i=1}^k a_i$  and  $B_k = \prod_{i=1}^k b_i$ , then

$$A_{k} = \left(\frac{1}{(p+1)\sqrt[n]{n!}}\right)^{k-pn} \prod_{j=0}^{p-1} \left(\frac{1}{(j+1)\sqrt[n]{n!}}\right)^{n},$$

for  $pn + 1 \le k \le (p + 1)n$ , p = 0, 1, 2, ..., n, and

$$B_{k} = \left(\frac{1}{(q+1)^{n+1}\sqrt{(n+1)!}}\right)^{k-q(n+1)} \prod_{j=0}^{q-1} \left(\frac{1}{(j+1)^{n+1}\sqrt{(n+1)!}}\right)^{n+1},$$

for  $q(n+1) + 1 \le k \le (q+1)(n+1), q = 0, 1, 2, \dots, n-1$ .

Let  $k \in \{1, 2, \dots, n(n+1)\}$ , then there exists a uniquely determined number  $i \in \{0, 1, 2, \dots, n\}$ such that  $in + 1 \le k \le (i + 1)n$ . We consider three cases to show (3.3).

Case 1. i = 0. Then we have  $1 \le k \le n$  which leads to

$$A_k = \left(\frac{1}{\sqrt[n]{n!}}\right)^k$$
 and  $B_k = \left(\frac{1}{\sqrt[n+1]{(n+1)!}}\right)^k$ .

Because of  $\sqrt[n]{n!} < \sqrt[n+1]{(n+1)!}$ , we have  $B_k < A_k$ . Case 2. i = n. Then we have  $n^2 + 1 \le k \le n(n+1)$  which leads to

$$A_{k} = \left(\frac{1}{(n+1)\sqrt[n]{n!}}\right)^{k-n^{2}} \prod_{j=0}^{n-1} \left(\frac{1}{(j+1)\sqrt[n]{n!}}\right)^{n}$$

and

$$B_k = \left(\frac{1}{n^{n+1}\sqrt{(n+1)!}}\right)^{k-(n-1)(n+1)} \prod_{j=0}^{n-2} \left(\frac{1}{(j+1)^{n+1}\sqrt{(n+1)!}}\right)^{n+1}.$$

Inequality  $B_k \leq A_k$  is equivalent to

(3.4) 
$$\left(\frac{n+1}{n} \frac{\sqrt[n]{n!}}{\sqrt[n+1]{(n+1)!}}\right)^k \le \frac{n!}{n^n} \left(\frac{n+1}{n}\right)^{n^2}.$$

Beause of  $\frac{n+1}{n} \frac{\sqrt[n]{n!}}{\sqrt[n+1]{(n+1)!}} > 1$ , we have to show that (3.4) holds for k = n(n+1). Easy

computation shows that the sign of equality in (3.4) holds for k = n(n + 1). Case 3.  $1 \le i \le n-1$ . Then we have  $in+1 \le k \le i(n+1)$  or  $i(n+1)+1 \le k \le (i+1)n$ . If  $in + 1 \le k \le i(n+1)$ , then

$$A_{k} = \left(\frac{1}{(i+1)\sqrt[n]{n!}}\right)^{k-in} \prod_{j=0}^{i-1} \left(\frac{1}{(j+1)\sqrt[n]{n!}}\right)^{n}$$

and

$$B_k = \left(\frac{1}{i^{n+1}\sqrt{(n+1)!}}\right)^{k-(i-1)(n+1)} \prod_{j=0}^{i-2} \left(\frac{1}{(j+1)^{n+1}\sqrt{(n+1)!}}\right)^{n+1}.$$

For i = 1, then k = n + 1,  $B_k \le A_k$  is equivalent to

$$\frac{n+1}{\sqrt[n]{n!}} \ge 2,$$

which is true, since the sequence  $\left\{\frac{n+1}{\sqrt[n]{n!}}\right\}_{n=1}^{\infty}$  is strictly increasing from (2.3). For  $2 \le i \le n-1$ .  $B_k \le A_k$  can be written as

(3.5)  
$$\frac{\prod_{j=0}^{i-2} [(j+1) \sqrt[n+1]{(n+1)!}]^{n+1}}{\prod_{j=0}^{i-1} [(j+1) \sqrt[n]{n!}]^n} \\{\geq \frac{[i \sqrt[n+1]{(n+1)!}]^{(i-1)(n+1)}}{[(i+1) \sqrt[n]{n!}]^{in}} \left(\frac{(i+1) \sqrt[n]{n!}}{i \sqrt[n+1]{(n+1)!}}\right)^k, 2 \le i \le n-1.$$

It is easy to see from (2.3) that

$$\frac{i}{i+1} < \frac{n}{n+1} < \frac{\sqrt[n]{n!}}{\sqrt[n+1]{(n+1)!}}, \ 2 \le i \le n-1,$$

which implies

(3.6) 
$$\frac{i+1}{i} \frac{\sqrt[n]{n!}}{\sqrt[n+1]{(n+1)!}} > 1, \ 2 \le i \le n-1.$$

Because of (3.6), it suffices to prove that (3.5) is valid for k = i(n + 1). This means we have to show that

$$\frac{i+1}{\sqrt[n]{i!}} \le \frac{n+1}{\sqrt[n]{n!}}, \quad 2 \le i \le n-1,$$

which holds strictly, since the sequence  $\left\{\frac{n+1}{\sqrt[n]{n!}}\right\}_{n=1}^{\infty}$  is strictly increasing from (2.3). If  $i(n+1)+1 \le k \le (i+1)n$ , then we have

$$A_{k} = \left(\frac{1}{(i+1)\sqrt[n]{n!}}\right)^{k-in} \prod_{j=0}^{i-1} \left(\frac{1}{(j+1)\sqrt[n]{n!}}\right)^{n}$$

and

$$B_k = \left(\frac{1}{(i+1) \sqrt[n+1]{(n+1)!}}\right)^{k-i(n+1)} \prod_{j=0}^{i-1} \left(\frac{1}{(j+1) \sqrt[n+1]{(n+1)!}}\right)^{n+1}$$

such that  $B_k \leq A_k$  is equivalent to

(3.7) 
$$\frac{i!}{(i+1)^i} \ge \left(\frac{\sqrt[n]{n!}}{\sqrt[n+1]{(n+1)!}}\right)^k, \quad 2 \le i \le n-1.$$

Because of  $\frac{\sqrt[n]{n!}}{n+\sqrt[n+1]{(n+1)!}} < 1$ , it is enough to prove inequality (3.7) for k = i(n+1) + 1. This means we have to show that

(3.8) 
$$\left(\frac{n+1}{\sqrt[n]{n!}} / \frac{i+1}{\sqrt[i]{i!}}\right)^i \ge \frac{\sqrt[n]{n!}}{\sqrt[n+1]{n+1}}$$

From Lemma 2 we conclude that

(3.9) 
$$\frac{n+1}{\sqrt[n]{n!}} / \frac{i+1}{\sqrt[i]{i!}} > 1 > \frac{\sqrt[n]{n!}}{\sqrt[n+1]{i!}}, \quad 2 \le i \le n-1,$$

which implies (3.8) with strictly inequality. This finishes the proof of (3.3), and thus of the theorem.

The proof of Theorem has motivated by an article of Alzer [1].

#### REFERENCES

- [1] H. ALZER, On an inequality of H. Minc and L. Sathre, J. Math. Anal. Appl., 179 (1993), 396–402.
- [2] P. S. Bullen, A Dictionary of Inequalities, Pitman Monographs and Surveys in Pure and Applied Mathematics 97, Addison Wesley Longman Limited, 1998.
- [3] H. KÖNIG, Eigenvalue Distribution of Compact Operators, Birkhaüser, Basel, 1986.
- [4] J. S. MARTINS, Arithmetic and geometric means, an application to Lorentz sequence spaces, *Math. Nachr.* **139** (1988), 281–288.
- [5] J.-S. SUN, On upper and lower bounds of Minc-Sathre inequality, *Bulletin of Mathematics*, **11** (2003), 40. (Chinese)